MaTH 304-01: LINEAR ALGEBRA-FALL 2019 Quiz ﬂ6

Name (Print):

Problem 1 Circle the correct answer:

T
1. True/False H = {| 22 | € R®: 21 — 5 + x3 = 0} is a subspace of R3.
Zs3

2. True/False {0} is a subspace of R™, where 0 is the zero vector of R".

1
3. True/False Let A = (i ;2 _?) Then p = | —1 | is in NulA.

2

1

4. True/False Let v; = B] and vy = lo

]. Then {vy,vs} is a basis for R?

Problem 2 Let

1 03 -2
A=|-1 3 2 2
1 3 8 =2

1. Find the RREF of A.

2. Determine the pivot columns of A.

3. Find RankA, the rank of the matrix A.
4. Find a basis for NulA.

5. Find a basis for ColA.

6. Verify the Rank Theorem for the matrix A.



